
Subject: Re: communicating between virtual machines
Posted by arulP on Wed, 18 Mar 2009 13:58:21 GMT
View Forum Message <> Reply to Message

[root@localhost ~]# vzctl enter 152
entered into CT 152
[root@openvz2 /]# ping 192.168.1.153
PING 192.168.1.153 (192.168.1.153) 56(84) bytes of data.
From 192.168.1.102: icmp_seq=1 Redirect Host(New nexthop: 192.168.1.153)
64 bytes from 192.168.1.153: icmp_seq=1 ttl=64 time=0.089 ms
From 192.168.1.102: icmp_seq=2 Redirect Host(New nexthop: 192.168.1.153)
64 bytes from 192.168.1.153: icmp_seq=2 ttl=64 time=0.094 ms
From 192.168.1.102: icmp_seq=3 Redirect Host(New nexthop: 192.168.1.153)
64 bytes from 192.168.1.153: icmp_seq=3 ttl=64 time=0.090 ms
From 192.168.1.102: icmp_seq=4 Redirect Host(New nexthop: 192.168.1.153)
64 bytes from 192.168.1.153: icmp_seq=4 ttl=64 time=0.088 ms
From 192.168.1.102: icmp_seq=5 Redirect Host(New nexthop: 192.168.1.153)
64 bytes from 192.168.1.153: icmp_seq=5 ttl=64 time=0.089 ms
From 192.168.1.102: icmp_seq=6 Redirect Host(New nexthop: 192.168.1.153)
64 bytes from 192.168.1.153: icmp_seq=6 ttl=64 time=0.086 ms
64 bytes from 192.168.1.153: icmp_seq=7 ttl=64 time=0.063 ms

--- 192.168.1.153 ping statistics ---
7 packets transmitted, 7 received, 0% packet loss, time 6066ms
rtt min/avg/max/mdev = 0.063/0.085/0.094/0.013 ms
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